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rug(x, ticksize=0.03, side=1, 1lwd=0.5, col, quiet = getOption("warn") < 0, ...)
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data(faithful)
with(faithful, { # with PIELOEWFHIZHEE attach(faithful) 2B AE
plot(density(eruptions, bw=0.15))
rug(eruptions)
rug(jitter(eruptions, amount = .01), side = 3, col = "light blue")
b

2.2 boxplot + rug (3! ”Statistiques avec R” &), 2004.4.4)

data(faithful)

par (fin=c(6,3)) # {EXfHKEZ 6 1 F x 34 FIZT D
boxplot(faithful$eruptions, horizontal=T)
rug(faithful$eruption, ticksize=.2)

density.default(x = eruptions, bw = 0.15)
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2: boxplot + rug



